= A
A 2 0l & A &2 & Al A
20219 &= = 0llat LB & XA
SN FRIXE D
Ha: =Xl 2E
&2 XNFAS =X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=0 X2t 56,217,532 52,257,370 3,960, 162
= 34,596,415
s 683,636
J| 308,679
< 6,128,616
s 14,500, 186
SXoIg = 8,365,977 8,203,608 162,369
= 4,166,270
s 637,582
< 1,911,107
[ia 1,651,018
XS AE =X 3,384,852 3,268,786 116,066
= 860,768
s 637,582
< 518,063
[ia 1,368,439
XNAARSEX XA 143,319 127,342 15,977
201 Let24d] 11,472 11,715 A 243
01 At 22l 972 1,215 A 243
OXSALE MHI A LBt ZH|
1,215,000& = 80% 972
02 232gHl 10,500 10,500 0
Od=Zexd eABRHERS 10,000, 000& 10,000
Odi=ed MSEER23 500,000& 500
202 (44l 11,172 13,680 A 2,508
01 SLHOIYI 11,172 13,680 A 2,508
O=SXNZHYIE =& 15,960,000& * 70% 11,172
203 YR =&l 3,000 3,000 0
03 AIMF=XH R =AH| 3,000 3,000 0
OFUXNJALS AMZ=ZH| 2,000,000& 2,000
OEEYRFL AHF=IH| 1,000,000 1,000
301 LB AF 400 400 0
09 SALLHIX A S 400 400 0
OXNSAB2EHE AN 22 ST S4H|
400,000& 400
307 21201 A 117,275 98,547 18,728
10 ALSISXAIEEER2GHEX 68,775 68,547 228
OXNZGASI2EEE2AM 2FHl 53,775,000 53,775
Odxmof At XNJAME 2Fdl 15,000, 000& 15,000
11T MISXASEEX 48,500 30,000 18,500
OHXLIoHAH X3 EE AH XI&
20,000,000& 20,000
O ZEWIAAY 23 HI 8,500,000& 8,500
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B4 FOX

|
M SXI|E 2=
X ALS =X )
2 S 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OXEAMIBEEHESEOAM NEASIEEZA AL
20,000,000 20,000
S K HAPARE R AF 14,600 20,420 N5,820
201 gBt24y| 1,440 1,620 A 180
02 =224 H| 1,440 1,620 A 180
OSEXZAE 22s5UHES 22 S
40,0008 ~ 304 * E=| 1,440
202 044l 13,160 18,800 A5,640
1 =2 Wy 13,160 18,800 N5,640
OZ2XNZAI 2=& 4dl 18,800,000& = 70% 13,160
K GAS MBI A EXAE 910,832 759,625 151,207
Fag 637,582
& 81,975
= 191,275
201 LBt 9| 2,832 2,625 207
Fag 1,982
= 255
= 595
01 AP 22| d| 2,832 2,625 207
OXNEMIMHIA EXAIY EEZS M
2,832,000 2,832
Fag 1,982
& 255
= 595
308 XX EHSOIA 908,000 757,000 151,000
= 635,600
& 81,720
= 190,680
1 2|2 ES0HeHE A X 2 EFAFS HI 908,000 757,000 151,000
OXNYAS A A EXAIYE =&
908,000,000& 908,000
Fag 635,600
& 81,720
= 190,680
AN AISIEXAIE SAA 2L S 1,085,720 970,300 115,420
& 434,288
= 651,432
307 2Iz2to| & 1,085,720 970,300 115,420
== 434,288
= 651,432
10 M SAANEEHESIGHEX 1,085,720 970,300 115,420
OAMZEXANE SAX =
1,085,720,000& 1,085,720
& 434,288
= 651,432
MNIEXEE X 177,488 171,544 5,944
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SN FUXRD
a: =x08 75
&2 XNFAS =X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 177,488 171,544 5,944
10 AL SXAIEEE 2 H EX 138,188 132,244 5,944
OAMaI=XIE2s 23| 138,188, 000& 138,188
11T M SXAISEEX 39,300 39,300 0
OJI=FEWIAY 23,000,000& 23,000
OO0l S M EHALY 9,000,000& 9,000
Oos4d sNZEd 2,500,000 2,500
OAt2I =X 23 SAL MM
4,800,000 4,800
AN =232 183,125 133,315 49,810
301 LA F 183,125 133,315 49,810
0B ARSI ESEERAB NS 183,125 133,315 49,810
OAZERRE SAHI
6,000& * 1259% * 202 =~ 128 180,000
OMIA=RRP Mol2443 25,0008 1259 3,125
AN ERHE XI& 860,768 738,050 122,718
= 860,768
301 EEMZ 860,768 738,050 122,718
= 860,768
0B A =R RAB A4S 832,175 711,450 120,725
OMI=E2R2H B 755,150,000& 755,150
= 755,150
OMIE2R2E sl 77,025,000 77,025
= 77,025
12 JIEBHE4 = 28,593 26,600 1,993
OMI =222 I=4| 28,593,000 28,593
= 28,593
ASIEXEog KA (BX) 9,000 10,000 21,000
< 1,800
i 7,200
307 212+0| & 9,000 10,000 A 1,000
< 1,800
s 7,200
11T MISRASEX 9,000 10,000 A 1,000
OAM2=XC & A 9,000, 000& 9,000
< 1,800
s 7,200
ol ~ & 371,096 396,296 A 25,200
= 141,660
< 28,230
s 201,206
OITHEl S 3,060 360 2,700
201 Let2dE] 360 360 0
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S FOIKED
Hu: =X08 15

R Mol &ES (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
02 2224 H| 360 360 0
OMASE2EX SEHEAALY HHAMES
30,0008 = 12&€ 360
405 XHA&HF S HI 2,700 0 2,700
01 XA 2 ZF S| 2,700 0 2,700
OMols=A B2 HAHOYH 2L
2,700,000& 2,700
S MHA K& 1,732 2,040 A 308
201 et | 1,732 2,040 ~308
01 AP 22| H| 1,300 1,500 A 200
Ogbt=24| 1,000,000& = 80% 800
OAZISX S I &
100,000 = 59 500
02 B32ZH| 432 540 A 108
OU=XNANIE Z2E5UHNS =2 S
45,000 = 10 = 128 * 80% 432
ZDMAZXNELHH N (SSAAZ2IA 22| 277,504 305,096 A27,592
ne)
= 82,140
o 24,642
= 170,722
101 e1214| 277,504 305,096 AN 27,592
= 82,140
= 24,642
= 170,722
03 RIHEZZXHE = 277,504 305,096 N 27,592
OE&Atdl &2l AP 21 21| 167,706
-JIE3 156,906,000 156,906
= 76,740
& 23,022
= 57,144
B LR
18,000& * 5% = 10Al2t ~ 12& 10,800
= 5,400
& 1,620
= 3,780
OSeAHZEIAF QA AHHI(2HIZOR) 109,798
-Al2te 22 ae
18,000 * 5% = 20Al2t ~ 12& 21,600
-JIExd 20,000 = 3vH * 12€ 8,400
-H A S OHY| 700,000& * 5% * 23| 7,000
-XASOHAS 50,000 = 5H x 128 3,000
-2EJHM2 690,300 * 5 * 12& 41,418
-HAxRa4+E 92,000 * 5 x 18 8,280
-JFAH 2 Xl 335,000& = 5 * 123 20,100

_66_




2N
X ZH -
L= B

el

FoIXR D
=3x8 7
THoH 7=

B

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

0H
0H

ASISXNEEHA HE (A2 SESAte 22 NJ)

HH A

13,200
6,600
1,320
5,280

13,200

HH A

1,200
600
120
480

1,200

03 I AHAAN2 22+

OSE At Zel At D20 & wNsEAH|
1,200,000&

Mo A

1,200

1,200
600
120
480

1,200

201

e
iz
Mo
0
=

MR

6,000
3,000

600
2,400

6,000

01 At 2t 2l bl
OAtell 22l X & Aty L Bh=ZH| 6,000, 000&

MW

6,000
6,000

3,000
600
2,400

6,000

301

e
T
H
al
oy

MR

6,000
3,000

600
2,400

6,000

01 A

=

> o
T
0
I
i
%ﬂ
ol

o
]
[l
>
9
==

6,000,000&

HH W

6,000

6,000
3,000

600
2,400

6,000

1> o
o) 0

MESXHLHA N (SHS XSS S A
)

| &

HH W

75,600

52,920
2,268
20,412

75,600

Mo H

27,600
19,320
828
7,452

27,600

01 AtR 22l |
OAtell 22l X2 At eiBt=8H  22,200,000&

o
)
0p
0B
Mo
02
=S

MR

22,200
22,200

15,540
666
5,994

5,400

22,200

5,400
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2N
X ZH -
L= B

el

FoIXR D
=3x8 7
THoH 7=

B

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAtedl 22l RI &AL 2223l 5,400,000& 5,400
= 3,780
< 162
s 1,458
301 LA F 48,000 48,000 0
= 33,600
< 1,440
[ia 12,960
01 MEI2BE X263 48,000 48,000 0
OArddl 22l At I 48,000,000 48,000
= 33,600
< 1,440
= 12,960
L=o B 2 XN 4,610,029 4,538,526 71,503
= 3,163,842
< 1,364,814
s 81,373
L=o 25 19,200 19,200 0
201 £B-2d| 7,200 7,200 0
01 At 22l 7,200 7,200 0
ORdD A& B0& 1,200,000 « 69 7,200
307 glz2tol & 12,000 12,000 0
01 22724l 12,000 12,000 0
Ok=0 R&H 100,000& * 123 1,200
OfHIDX S0l et AldHel 10,800, 000& 10,800
C=0AE X2 (289) 4,342,137 4,103,636 238,501
= 3,039,496
< 1,302,641
301 EEMZ 4,327,851 4,089,350 238,501
= 3,029,496
< 1,298,355
01 Ml2EZE 06z 4,327,851 4,089,350 238,501
OL=0Al4d X2 (2gdl) 4,327,851,000& 4,327,851
= 3,029,496
< 1,298,355
307 21201 A 14,286 14,286 0
= 10,000
< 4,286
10 ALSISXAIEEE2EHEX 14,286 14,286 0
OL=mQoAE XA (ZZ3Hl) 14,286,000 14,286
= 10,000
< 4,286
C=0AE XNEOIsEY) 248,692 415,690 A 166,998
= 124,346
< 62,173
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AN FUAX B
Ha: =2x0|8 2E
el w0l 25 Y X (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o 62,173
402 RI2EX20| A 248,692 415,690 A 166,998
= 124,346
= 62,173
s 62,173
02 QI EAISEZ (OIS ) 248,692 415,690 A 166,998
OL=0A4 XNAJIsEL) 248,692,000 248,692
2 124,346
< 62,173
[ia 62,173
g2 1,788,551 1,467,994 320,557
< 133,440
[ia 1,655,111
B2l ¢ X 1,788,551 1,467,994 320,557
= 133,440
[ia 1,655,111
EegRFa 1,464,170 1,238,710 225,460
201 L2l 7,450 6,110 1,340
01 At 22l 8l 2,650 1,810 840
OE& gRFa det=ZH| 500,000& 500
OBSL M XNAF2AX EE 2102
300,000& = 5A 1,500
Os=2&89 € =2 50,000& = 130H 650
03 &Ar2 Z I 4,800 4,300 500
O==E2&4 st 2 100,000& * 54 500
Oz AL ZH Xz 3,000,000& 3,000
OZEE &t LBt 300,000 300
OSHEY &AL & SIEEQ E Al &Al
50,000& * 204 1,000
301 YU BHZ 1,456,720 1,232,600 224,120
01 AR 2Z A5l 3 1,455,400 1,231,400 224,000
O=gR3XN Zd=3 200,000 » 22H * 23] 8,800
OFHKRESA BH=% = 1,239,600
-6.258 873Xt 130,000& = 230 » 12&8 358,800
-HESE ARSI
130,000& = 380 » 12&8 592,800
-NEZEARE 100,000& = 80  12& 96,000
-HHRINARS 50,000& = 320H = 123 192,000
ORI ALRAZ23 X2
300,000& = 60H 18,000
O=SER3A =& A=< X2
150,000& = 22% » 12& 39,600
O24=2d8 8 2E2l=+Y K= 149,400
-So4=z2d & =2 100,000 * 40%H » 128 48,000
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AN FUAX B
M. 2ape
o9 gEdel ¥ XK CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-E=2x8X% 30,000& = 159 = 12& 5,400
S48 & & 50,0003 x 160 » 128 96,000
12243 1,320 1,200 120
SERSA 2E3 JIEE
30,0004 = 22H =« 23| 1,320
BEYRFA(EBX) 129,120 71,160 57,960
< 129,120
301 LeBAF 129,120 71,160 57,960
< 129,120
01 MI28E+06l= 129,120 71,160 57,960
OFNRIA Hu=EXRAL(6.25 HEY)
20,0003 = 538H = 123 129,120
< 129,120
SER3AT A=H X 14,400 15,600 A 1,200
< 4,320
s 10,080
307 21201 A 14,400 15,600 A1,200
< 4,320
[ia 10,080
01 =L =4l 14,400 15,600 A 1,200
OsgR3k ¥ |RF 224 X&
600,000& = 24H 14,400
< 4,320
s 10,080
ao0lzZ3 XN 21,655 21,757 A 102
307 21201 A 21,655 21,757 A 102
10 ALSISXAIEEER2IHEX 15,617 15,617 0
Ooaolzda 29dl XA 15,617,000& 15,617
11T M SRAIS EX 6,038 6,140 A 102
Ood0lzZds dF™X&dAd XA 4,030,000& 4,030
Od0lzZdal UctAtg t2ns| & A WS
2,008,000& 2,008
HdEZIRES XA 23,675 22,275 1,400
307 glz2+0l & 23,675 22,275 1,400
10 ALSISEXAIEEE2EHEX 13,600 13,600 0
Odszdrs=3 2494 N& 13,600, 000& 13,600
11 ALS S RAEE = 10,075 8,675 1,400
OFESZzZERES dRX=d XA
2,575,000 2,575
OFSZZERES LA XA
6,000,000 6,000
Ods=z2Zs=s |IHES K& 1,500,000 1,500
dEzzolgels X& 14,374 14,374 0
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AN FUAX B
M. 2ape
ol BEael ¥ X CER-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 14,374 14,374 0
10 AL SXAIEEE 2 H EX 12,294 12,294 0
Od==ZZ0IYes 234 XI& 12,294,000 12,294
11T M SXAISEEX 2,080 2,080 0
Od=S=zd0lgels dAX =d XN&
2,080,000& 2,080
23x2X3 XA 12,245 12,245 0
307 glz2+0ol & 12,245 12,245 0
10 ALSISEXAIEEE2EHEX 10,245 10,245 0
s ltz 244 XN& 10,245,000& 10,245
11 ALS S XAEE = 2,000 2,000 0
OfR3+=2ia HFX=d X& 2,000,000& 2,000
DEMELE K& 49,413 18,883 30,530
307 glz2tol & 18,900 18,883 17
10 AL SXNAIEEE2EH EX 16,500 16,483 17
OlNgHAELs 2LH X 16,500,000& 16,500
11T M3 SRASEX 2,400 2,400 0
OnNgMNELs HAX=d XN&  2,400,000& 2,400
402 2I2H X201 M 30,513 0 30,513
01 2I2E 2 A B (KM ) 30,513 0 30,513
OnNgHAELs &7 30,513,000& 30,513
FEgdEELS K 35,429 31,120 4,309
307 glz2tol & 34,120 31,120 3,000
10 ALSISXAIEEE2EH EX 9,000 9,000 0
OEddEdIa 244l XA 9,000,000& 9,000
11T AL SXAEE = 25,120 22,120 3,000
OZEEdEadIa dRX=d XA
2,280,000 2,280
OCESNdEENs s=204E22 U3 X3
2,920,000 2,920
OZEEdEHIE HEHIEHA XA
2,920,000 2,920
OogagdadLa HEY dFX =d
14,000, 000& 14,000
OELEHNEN JIBEH B 3,000,000& 3,000
402 RI2EX=20| M 1,309 0 1,309
01 2I2E 2 AL B (KM ) 1,309 0 1,309
OogagdadIal Ulls ARIII 2
1,309,000 1,309
Z=32 N& 4,200 2,000 2,200




AN FUAX B
M. 2ape
ool 2EEe ¥ XY EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 4,200 2,000 2,200
10 AL SXAIEEE 2 H EX 4,200 2,000 2,200
OZ=3 29dl X& 4,200,000& 4,200
6.25&88 =St X 19,870 19,870 0
307 eIzl & 19,870 19,870 0
10 ALSISXAIEEE 22X 15,700 15,700 0
O6.258 8 =3 X3 29H K& 15,700,000& 15,700
11T AL SXAEE = 4,170 4,170 0
O6.252 R N3 dEXzel K&
2,000,000& 2,000
O6.258 8733l UtAtEy u=
1,120,000 1,120
O6.258 8 7S 2l S SHA K&
1,050,000 1,050
I TMEEH 24,094,191 22,795,737 1,298,454
= 18,170,936
s 46,054
< 2,128,852
s 3,748,349
MY L I =HESE 22,167,602 20,915,831 1,251,771
= 16,734,341
< 2,027,337
[ia 3,405,924
HEZH AR A 9,064 14,520 A5,456
201 et 1,000 3,000 A 2,000
01 At 22l 1,000 3,000 A 2,000
OMESH 22 222 ME 2 H+8Y
1,000, 000& 1,000
202 O4dl 8,064 11,520 N 3,456
01 = LH o4 1l 8,064 11,520 A 3,456
OMEIHY Y2 ol
11,520,000 * 70% 8,064
AZIFAHE MEDRRA Helgt 60,792 62,209 NT1,417
101 @124 Hl 41,292 40,209 1,083
04 D122 2XREE S 41,292 40,209 1,083
OMESAUA™elBt JI2HM 22X 2] 41,292
=0 2,325,000& * 2H » 83 37,200
-AFBIE™ JIaRE 3 37,200,000 * 11% 4,092
201 et 7,500 10,000 A 2,500
01 At 22l I 1,500 2,000 A 500
Oget=&H| 1,500,000 1,500
02 =224l 6,000 8,000 A 2,000
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2N
X ZH -
L= B

el

Off &t 24

=
i

2

2 HAl 1,000, 000&
5,000,000&

1,000
5,000

12,000

,000

Ol HaHl 2
1,000,000& = 12&

12,000

12,000

,000

MW

593,750

475,000
118,750

646,

250

A 52,500

MW

593,750

475,000
118,750

646,

250

A 52,500

A& A 593,750,000&

M H

593,750
593,750

475,000
118,750

646,

250

A 52,500

HA=0 N2

Mo H

,369,034
,095,227
,636,904
,636,903

,598,

366

770,668

(o]
2
e
L
Ho
P
oy

Mo H

,369,034
,095,227
,636,904
,636,903

,598,

366

770,668

=0 X& 16,369,034,000&

HH A

,369,034

, 369,034
,095,227
,636,904
,636,903

,598,

366

770,668

FAHA=0 XS

U AT

,831,000
,065,000

383,000
383,000

,350,

000

481,000

U AT

3,231,000
2,585,000

323,000
323,000

, 750,

000

481,000

3,231,000,000&

MW

,231,000

3,231,000
2,585,000

323,000
323,000

. 750,

000

481,000

403 TR EHSA=01H

MW

600,000
480,000
60,000
60,000

600,

000
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AN =X 0
My 20| EMBEE
el M U JIEMESE (el:de)
_ (o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
02 SO 2SOICHsH A2 X 2 A I 600,000 600,000 0
Ox=EKRXAL 600,000,000& 600,000
= 480,000
< 60,000
[ia 60,000
WEIH(BHEEXH) 31,287 27,104 4,183
308 XXM SOIA 31,287 27,104 4,183
08 WKII20HStE = 31,287 27,104 4,183
Ou=ss0 31,287,000 31,287
HAMAEHSH XA 123,892 107,884 16,008
= 99,114
< 7,433
s 17,345
301 LENF 123,892 107,884 16,008
= 99,114
= 7,433
s 17,345
01 Ml28E 6= 123,892 107,884 16,008
Ot ZFHSH A& 123,892,000& 123,892
= 99,114
< 7,433
i 17,345
SIZ2SHEEIHIS N2REd2(5H2) 1,125,145 1,074,182 50,963
308 XXM S0 A 1,125,145 1,074,182 50,963
07 XX SHM2ARES 1,125,145 1,074,182 50,963
Od==SWSEIHIIZ NZRES(EAH3)
1,125,145,000& 1,125,145
oz=0 A XA (=S H22lAF 21248 X 23,638 34,316 A 10,678
2l)
101 @14l 23,638 34,316 210,678
03 RIAHAAZZRE > 23,638 34,316 210,678
Oz =0l &l A e1Adl(ZHl FIt&) 23,638
S ) P = 358,000& * 29 » 12& 8,592
-Z 2 F | 700,000& * 2% » 23| 2,800
-JtAHIE £ 8 335,000& = 29 « 12& 8,040
-AxRESsE 83,5003 * 2% 18 3,006
-ABBIoHAS 50,000& = 2 » 12& 1,200
At k& 1,926,589 1,879,906 46,683
= 1,436,595
s 46,054
< 101,515
s 342,425
TNEIZZ2 ALY 1,300,096 1,285,806 14,290
= 1,040,077
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AN =X 0
My 20| EMBEE
chel: REX (29l & 2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
< 78,006
s 182,013
307 glz2tol & 1,300,096 1,285,806 14,290
= 1,040,077
< 78,006
s 182,013
10 M EXNANEHI2IHE=X 1,300,096 1,285,806 14,290
OXgz2=z Atd 1,300,096, 000& 1,300,096
= 1,040,077
< 78,006
s 182,013
EAS 25,530 62,076 A 36,546
= 20,424
< 1,532
[ia 3,574
301 LPENF 25,530 62,076 A 36,546
= 20,424
< 1,532
s 3,574
01 MEI2BEE 253 25,530 62,076 A 36,546
OXa&Eeigd XN 25,530,000& 25,530
= 20,424
< 1,532
e 3,574
NEXted 298 X2 301,831 266,593 35,238
= 211,282
s 90,549
307 glz2tol & 301,831 266,593 35,238
= 211,282
s 90,549
10 M ZXNANEHI2IHES 301,831 266,593 35,238
OX<gXtady 29t 301,831,000& 301,831
= 211,282
s 90,549
NaXedy gds X2 21,000 21,000 0
= 8,400
e 12,600
402 2I2H X201 M 21,000 21,000 0
< 8,400
e 12,600
02 QI 2AIL EZ (01 &) 21,000 21,000 0
OXEAY 243t =& AH XI&
21,000,000& 21,000
< 8,400
[ia 12,600
S WISESEANY XNA(AYINSSEHI) 26,492 25,641 851
= 21,194
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SN FUNAD
My 20| EMBEE
chel: REX (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 5,298
301 LEXZ 26,492 25,641 851
2 21,194
s 5,298
01 MEIBEZE 05z 26,492 25,641 851
22520 Us £ LS (3 Y
2STI) 26,492,000 26,492
= 21,194
e 5,298
S|AIBEEMY KNI (SLIISEEII) 35,000 68,046 A 33,046
= 28,700
< 6,300
301 LEMZ 35,000 68,046 A 33,046
= 28,700
< 6,300
01 MEI2EZE 46z 35,000 68,046 A 33,046
02280l U= ==X g2 NI (5L
2S&I) 35,000,000& 35,000
= 28,700
< 6,300
SYINSSHAMY NR(HHSYISEH) 22,587 42,000 £19,413
2 18,070
< 1,355
[ia 3,162
301 LEMZ 22,587 42,000 A 19,413
= 18,070
< 1,355
s 3,162
01 MEI2EZE 06z 22,587 42,000 A 19,413
2220 Y= +IN FASXA (2
AI2SSE) 22,587,000 22,587
= 18,070
= 1,355
i 3,162
FENSHM XA 97,610 16,025 81,585
= 78,088
s 19,522
301 LptEEI 97,610 16,025 81,585
2 78,088
[ia 19,522
01 MEI2EZE +6l= 97,610 16,025 81,585
0225200 Y= =209 S+ XA (HEX
EAR) 97,610,000& 97,610
= 78,088
s 19,522
WSS EAE X 23,450 11,938 11,512
= 18,760
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AN FUAX B
My 20| EMBEE
chel: REX (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 4,690
301 LEXZ 23,450 11,938 11,512
= 18,760
s 4,690
01 MEIBEZE 05z 23,450 11,938 11,512
OZ22sE0l A=z =342 =X (HLI]
28%) 23,450,000 23,450
= 18,760
e 4,690
KNS SEAMS MU ASRAL (JFARZEY 2H2 2H2] AL 65,793 74,781 N 8,088
K& Ar)
s 46,054
= 5,922
= 13,817
308 XtXIEHH SOl A 65,793 74,781 A 8,988
s 46,054
< 5,922
[ia 13,817
M 3IN2SUHUE3 LS A 65,793 74,781 A 8,988
OJAZHE Y222l Ab XI& AL
65,793,000 65,793
s 46,054
< 5,922
s 13,817
SEXNGT2HAEH SAAL HRMA 7,200 6,000 1,200
307 21201 A 7,200 6,000 1,200
11T MISRASEX 7,200 6,000 1,200
OSEXNAXN2EE SAA XML
100,000& » 6Y = 12& 7,200
HAHNES EXXNA 20,752,693 18,632,197 2,120,496
= 12,259,209
< 1,809,644
i 6,683,840
HOHA=EXSE 20,752,693 18,632,197 2,120,496
= 12,259,209
< 1,809,644
e 6,683,840
Zopel 2K 20,718 23,522 A2,804
201 L4l 10,990 12,102 AT1,112
01 At 22l 10,990 12,102 AT1,112
OZMAHRFA L= 4|l 700,000 = 80% 560
O XS EA HE
1,100& = 2,60000 * 80% 2,288
ON&T2EH2 OIS 23448
4,000& = 50004 2,000
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=01 X2 ot
FHoHE 2N &
L EIEPETS ST
= - 4 14
SN EE B (BH) - HRAY - BES e Hl D= 2t
OZMAXNSXHEX FLISEHILR HA
1,000& = 1,5000H * 80% 1,200
OFOMeI=XI3tE bH&HI 3,220 = 1,1000H 3,542
QX0 A RSB &I MEA(HHALS <,
BXEOS &, AMMSHS) 1,000, 000& 1,000
OAZZoHe HEXAEIA ME
500,000& = 80% 400
202 oddl 8,428 10,120 21,692
01 = LH o4 1l 8,428 10,120 21,692
OHUMUXNE H2FE Gl
12,040,000 * 70% 8,428
303 Z& 3 1,300 1,300 0
01 L& 3 1,300 1,300 0
OZSSZMHAMAET R2H720 R=2AN A& 1,300
-E R 300,000& * 22 M 600
-2 = 200,000 * 22 A 400
- o 100,000& *» 32 A 300
Foperelzyl XA 119,201 119,201 0
= 95,361
< 16,688
s 7,152
308 XX EHSOIA 119,201 119,201 0
= 95,361
< 16,688
s 7,152
113/ 2SoHUHSZAEEALS I 119,201 119,201 0
O&oele=dl XI& 119,201,000& 119,201
= 95,361
= 16,688
[ia 7,152
Ol EE2x0|7 X 4,780 4,780 0
= 3,824
< 669
e 287
301 LetEA S 4,780 4,780 0
= 3,824
< 669
s 287
01 A EE E 563 4,780 4,780 0
OFMHATHEBE XD+ 4,780,000 4,780
= 3,824
S 669
s 287
FHESHAMAE2E 6,600 6,600 0
= 3,300
< 2,310
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SA: =0

X
Ha: F o
O

= 2XXH
Sl BOHAUSNSA CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 990
301 et A= 6,600 6,600 0
= 3,300
= 2,310
= 990
01 Al E & A 462 6,600 6,600 0
OXMASZEO0HR RetYl & HAH X2
6,600,000& 6,600
= 3,300
= 2,310
= 990
Zofeld K2l KIRAIS (ML AL RE]) 547,418 459,034 88,384
= 273,709
& 82,113
= 191,596
101 Q124 H] 546,418 458,034 88,384
= 273,209
= 81,963
= 191,246
04 JI2ZtHIZ22NEE S 546,418 458,034 88,384
OXNOHeI YL Xtel XA (LML RE)
546,418,000 546,418
= 273,209
& 81,963
= 191,246
201 LBt Y| 500 1,000 A500
= 250
= 75
= 175
01 AP 22| H| 500 1,000 A 500
OXOM LA HEAY HELZ 500,000 500
=2 250
o= 75
= 175
301 et M= 500 0 500
= 250
= 75
= 175
12 JIEtE2 & =2 500 0 500
OZHA L Xl AIY 2E | 500,000& 500
= 250
& 75
= 175
ZHOf oI Kt KIRAFS (AIZERIL Xt2]) 78,795 51,032 27,763
= 39,398
& 11,819
= 27,578
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2N
X ZH -
L= B

el

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

101 1Al

HH A

78,795

39,398
11,819
27,578

51,032

04 JIZH22REE =+
OFOHALXtel KA (AR L Xtel)

78,795,000&

M H

78,795

78,795
39,398
11,819
27,578

51,032

27,763

ZojoI L Riel KA (2XLXtEl)

Mo H

183,348
91,674
27,502
64,172

160,510

32,838

307 21201 &

MR

183,348
91,674
27,502
64,172

150,510

32,838

A S XA E X

OFNHE =SXLXAY

O
Jm
1
EJ
5o
|
J
il
e
=
o

SXLRel At

91,674,000

91,674,000

MW

RUR Y

183,348

91,674
45,837
13,751
32,086

91,674
45,837
13,751
32,086

150,510

32,838

HH W

6,892,493
4,824,745

620,324
1,447,424

7,650,018

AT57,525

Mo R

6,892,493
4,824,745

620,324
1,447,424

7,650,018

NT57,525

6,892,493,000&

Mo H

6,892,493
6,892,493

4,824,745
620,324
1,447,424

7,650,018

AT57,525

0
2
re
&
1
=
x
0%
b
[m
il
tol

e & A&

EURE

3,310

1,324
1,986

4,522

AT,212

UL

3,310

1,324
1,986

4,522

AT,212
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SN EOIXE D
HE: NS =X
ool HYU=NSA EERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 MI2EZE+06l= 3,310 4,522 N1,212
OFMLUANFAIE B424E 23HEH S N
3,310,000& 3,310
< 1,324
e 1,986
ZOHAH=AIAE &K UNHEEEHSZ N 30,000 30,000 0
< 12,000
s 18,000
301 LEHZ 30,000 30,000 0
< 12,000
s 18,000
01 MEI2EZE+05l= 30,000 30,000 0
OFMAAN=AIE EAX RHEEHFEAS XA
30,000,000& 30,000
= 12,000
s 18,000
RO RIGAS THEAAE 2F (XHAl) 2,108,724 2,111,895 A3,171
307 gl2tol & 2,108,724 2,021,895 86,829
05 BIZHRIE 3 1,469,058 1,405,709 63,349
OFMII=EXNJAHEEH 29l 165,233, 000& 165,233
OAlZ Eojel=sia 249 1,3083,825,000& 1,303,825
10 AL SXAIEEE2EH EX 639,666 616, 186 23,480
FUBSANE 29 175,020, 000& 175,020
OO THItEXSAHHEH 299
143,251,000& 143,251
OZOMQ MEOISANBAME 23
321,395,000 321,395
Hol2d oM AHAFAIE K& 129,234 126,650 2,584
< 25,846
= 103,388
307 glz2tol & 129,234 126,650 2,584
< 25,846
s 103,388
10 AL SXAIEEE 2 H EX 129,234 126,650 2,584
OMel2d HMAANFAE X
129,234,000& 129,234
< 25,846
e 103,388
O X 105,162 102,816 2,346
307 glz2tol & 105,162 102,816 2,346
10 AL SXNAIEEE2EH EX 68,662 66,316 2,346
OFHelHE sl 29l 68,662,000 68,662
11T MISAASEX 36,500 36,500 0
OHMHABAIE X 36,500




SN EOIXE D
HE: NS =X
Sl BOHAUSNSA CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
“Zopere ¢ 10,000, 000& 10,000
—EXEOI2 ¢ A Y SEHHE
8,000,000& 8,000
-S4z Zoel AAX 4,800,000 4,800
“Z0e RRESBELY 500,000& 500
8= XNMEMS MU= 1,000,000 1,000
M2 DSEMY NEX Ha 1,000, 000& 1,000
-5 e JIs3J tHal 3,000,000& 3,000
-USEM MSEMA ¥ AFEH BFU
700,000& 700
-NE2 IMEOH EHOUOt2tEZI U3
500,000& 500
A2 EREHRE ¥ HAWS
7,000,000& 7,000
FH30 KNI (s0E ZOHQ FEHIHEZALY) 38,000 38,000 0
= 19,000
< 13,300
s 5,700
307 21201 A 38,000 38,000 0
= 19,000
< 13,300
s 5,700
05 RIZtelEt = 38,000 38,000 0
OFAHS0H NA(SHEZOMHQIFEHINZALY)
38,000,000& 38,000
= 19,000
< 13,300
s 5,700
ZoHe A22E=E XA 23,808 23,808 0
301 LA F 23,808 23,808 0
01 MEIBEE 263 23,808 23,808 0
OMAasZHe 22282 XA
1,984,000& * 12& 23,808
LETHEAMEA X 367,200 345,600 21,600
= 257,040
< 33,048
e 77,112
308 XXM SOIA 367,200 345,600 21,600
= 257,040
< 33,048
e 77,112
3/ 2S0HetE & X 2 E A I 367,200 345,600 21,600
OgYMaEAMH A XA 367,200,000 367,200
=2 257,040
< 33,048
s 77,112
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2N
X ZH -
L= B

el

Off &t 24

=

i
2m

HH A

4,936,840
3,455,788

444,316
1,036,736

4,451,565

HH A

4,936,840
3,455,788

444,316
1,036,736

4,451,565

485,275

4,936,840,000&

U AT

4,936,840
4,936,840

3,455,788
444,316
1,036,736

4,451,565

485,275

Mo A

335,200
234,640
70,392
30,168

391,951

A56,751

Mo H

335,200
234,640
70,392
30,168

391,951

A56,751

335,200,000&

MW

335,200
335,200

234,640
70,392
30,168

391,951

A56,751

MW

211,894
148,326
44,498
19,070

207,623

4,271

Mo

211,894
148,326
44,498
19,070

207,623

4,271

211,894,000&

MR

211,894

211,894
148,326
44,498
19,070

207,623

4,271

AN OIS JIAXI S XHED] K& A

M

1,000

500
500

1,200

A 200

307 21201 A

UL

1,000

500
500

1,200

A 200

A S XA E X

1,000

1,200

A 200
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2N
X ZH -
L= B

el

81 X 2 2t
%XE SXX
Hol=xEx

Off &t 24

=

i
2m

OAZLZOHCINE AT SSREI| XIJ A
1,000,000&

M H

1,000

500
500

HH A

2,329,808
1,630,866

139,788
559, 154

1,185,525

1,144,283

308 MHXItHMS0IH

HH A

2,329,808

1,630,866
139,788
559, 154

1,185,525

1,144,283

OIS HNE(2SXNES0H)
3

,329,808,000&

Mo R

2,329,808

2,329,808
1,630,866
139,788
559, 154

1,185,525

1,144,283

O

FIHN &

r

Ol
0y
2
o
o
on
HE
b

EUNE

9,825

2,671
7,154

15,000

A5, 175

308 XM S0H

UL

9,825

2,671
7,154

15,000

AL, 175

FXIE 9,825,000

M

9,825

9,825

2,671
7,154

15,000

A5, 175

EURLY

10,000

4,000
6,000

10,000

307 21201 A

UL

10,000

4,000
6,000

10,000

A S XA E =

OZ0je AHS

g

S A 10,000,000&

EUNL

10,000

10,000

4,000
6,000

10,000

&

OHOILHBSOFINNJHE 2

M

67,635

27,054
40,581

66,430

1,205

307 glztol &

M

67,635

27,054
40,581

66,430

1,205

67,635,000&

67,635

67,635

66,430

1,205
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AN FUAX B
HE: NS =X
ool HYU=NSA EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 27,054
s 40,581
HOQIEHOAEN J=X2MH 2 47,038 45,824 1,214
307 gl2tol & 47,038 45,824 1,214
11T ALS S RAEE = 47,038 45,824 1,214
OXHABEHASAI=XNALEH 2Y
47,038,000 47,038
HEZMHAINMEROIALS 30,000 30,000 0
307 21201 A 30,000 30,000 0
11T ASI S XAEE = 30,000 30,000 0
OWEZEOR JIAIER0l AL 30,000,000& 30,000
HEZOHQ XJAMS(HEZHAESMEIE) 2,000 2,000 0
= 1,400
< 180
s 420
301 LEHZ 2,000 2,000 0
= 1,400
< 180
s 420
01 MEI2EZE+06l= 2,000 2,000 0
O&ZHel E4HIE XA 2,000,000& 2,000
= 1,400
< 180
s 420
HEZMHREAY 44,303 43,860 443
= 31,012
< 5,316
[ia 7,975
307 21201 A 44,303 43,860 443
= 31,012
< 5,316
e 7,975
11T MISAASEX 44,303 43,860 443
OW&ZHR WEX A 44,303,000 44,303
= 31,012
< 5,316
s 7,975
LIRS Aeladg XA 960 960 0
=2 672
< 86
[ia 202
308 A EHHSOIA 960 960 0
= 672
< 86
[ia 202
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2N
X ZH -
L= B

el

Off &t 24

=

i
2m

960,000

HH A

960

960
672

86
202

960

Mo

120,000

48,000
72,000

120,000

307 glztol &

M

120,000

48,000
72,000

120,000

1A SXAIE 2 =
OSSEM TNSUEHE 2

120,000, 000&

Ho

M

120,000

120,000

48,000
72,000

120,000

FOANFAIE DIsEY

MR

194,988
97,494
29,248
68,246

195,300

N312

Mo R

194,988
97,494
29,248
68,246

195,300

A312

HH A

194,988

194,988
97,494
29,248
68,246

195,300

A312

UL

35,797

10,739
25,058

35,416

381

307 glz2tol &

Mo

35,797

10,739
25,058

35,416

381

U
pea}
2
10
>
i
0
=]

FAAIH AL

35,797,000&

EUNL

35,797

35,797

10,739
25,058

35,416

381

Mo

592,019
414,414

35,521
142,084

282,144

309,875

o

592,019

414,414
35,521

282,144

309,875
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AN FUAX B
HE: NS =X
Sl BOHAUSNSA CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 142,084
N 3JN2SHUe3&HAE AR 592,019 282,144 309,875
OggHMe FHaEsMHIA X
592,019,000& 592,019
2 414,414
< 35,521
i 142,084
LEHMC Lus SSMHUA 266,464 157,300 109, 164
= 186,525
< 15,988
s 63,951
308 XX EHHSOIA 266,464 157,300 109, 164
= 186,525
< 15,988
fia 63,951
N 3JN2SHUe3&EAE A 266,464 157,300 109, 164
Oggzfel &us ssMHA
266,464,000 266,464
= 186,525
< 15,988
i 63,951
SEOMHAE X3 AL 30,000 30,000 0
307 glz2tol & 30,000 30,000 0
05 RIZHRIE 3 30,000 30,000 0
ORIMAE K& A 30,000,000& 30,000
NN JAASENH L AR 5,472 5,388 84
= 1,697
[ 3,775
307 21201 A 5,472 5,388 84
< 1,697
e 3,775
11T MISAASEX 5,472 5,388 84
APANCFALENH 2T AEIA
5,472,000 5,472
< 1,697
[ia 3,775
ZOHAANFAIE BI8FI XA 4,744 4,660 84
= 2,846
< 569
e 1,329
307 glz2+ol & 4,744 4,660 84
= 2,846
< 569
e 1,329
11T MISAASEX 4,744 4,660 84
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2N
X ZH -
L= B

el

FoIXR D
FHUHE =X
IS NSA

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

OFMANFAIE SIF3FI| XS
4,744,000

MR

4,744
2,846

569
1,329

ZOe JIEH S4MXSEHLNCIAE

Il

EUNE

33,600

10,080
23,520

33,600

307 21201 &

EUNL

33,600

10,080
23,520

33,600

M ARISXAIS L
OFOHe - JSH dUXSSE LAY

33,600,000&

UL

33,600

33,600

10,080
23,520

33,600

UL

2,400

720
1,680

2,400

EUE

2,400

720
1,680

2,400

GPS RIXIEXl ZEHIXI&
2,400,000

UNE

2,400

2,400

720
1,680

2,400

HH A

628,645
440,052

56,578
132,015

628,645

wW
<
o
e
HT
>
oy

HH A

628,645
440,052

56,578
132,015

628,645

628,645,000

HH W

628,645

628,645
440,052

56,578
132,015

628,645

SN EME JHats™

Mo H

7,318
5,123

439
1,756

7,318

308 MHXIEHHMS0IH

oy

7,318

5,123
439

7,318
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2A: FUXE
B FoE SXK
Sl o EXEH (B9 ®R)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
o 1,756
11 2I2SHUSHEAERAEASH] 7,318 0 7,318
OSSN E SO 7,318,000& 7,318
= 5,123
o= 439
= 1,756
Sl F2HES FIOXNE 50,472 0 50,472
= 13,721
= 36,751
307 QI2t0| & 50,472 0 50,472
& 13,721
= 36,751
11 A EXAIEEX 50,472 0 50,472
Ogg el =2t8s FIHAE 50,472,000 50,472
& 13,721
= 36,751
ZOHel XA THEAILA 2 (XHAN) 87,480 0 87,480
307 2Iz2t0| & 87,480 0 87,480
10 M3 SXANEEHESIGHEX 87,480 0 87,480
OHMe ES&GgE 29 87,480,000 87,480
A EF=NPY A2 A AE 22l 4,000 0 4,000
201 LBt | 4,000 0 4,000
02 22244l 4,000 0 4,000
OAAE X122 4,000,000& 4,000
QI ATHEANE DsES 4,000 0 4,000
= 2,000
=} 600
= 1,400
402 SI2t X0l & 4,000 0 4,000
= 2,000
= 600
= 1,400
02 QI2ZtXIEAIS EX (0| THSH) 4,000 0 4,000
OXMAXMNATHEAIE JIsEZ 4,000,000& 4,000
= 2,000
& 600
= 1,400
s 3 X 785,275 705,422 79,853
J| 308,679
= 135,573
= 341,023
23 I8 N 743,375 658,822 84,553
Dl 308,679
= 132,993
= 301,703

_89_




B4 FOX

|
Bu: 25 ¥ X2
e U223 It X& (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
ChEsot=E XS 33,800 43,508 N9,708
307 2Iz2t0| A 33,800 36,308 N 2,508
11 A EXAIEEX 33,800 36,308 N 2,508
OALINEUSRIINENIHH 28 & 10,800
-MIIe3(84d,.2Y) N
800,000  12& 9,600
- OHNEH =3 100,000& * 128 1,200
OU=sIIE stotssH N 10,000,000 10,000
OUE3IIE U2 AI2dg I
70,000 * 5 x 12&€ 4,200
OHEL XA 29 A
150,000& = 1 = 12€ 1,800
OZ2z8ous 89 g 5,000,000& 5,000
OUEg Lissanet 29 2,000,000& 2,000
A48 L OIS IIE NJHEEH 29 342,980 251,300 91,680
J| 171,490
& 51,447
= 120,043
307 2Iz2t0| & 342,980 251,300 91,680
J| 171,490
= 51,447
= 120,043
10 MM SXAEEHESIGHEX 342,980 251,300 91,680
OAHLINE & U2sIIEsXNSHH &9
342,980,000 342,980
J| 171,490
& 51,447
= 120,043
CI2SIIEXNHEH BSALN AR (RS 7,200 7,200 0
== 2,880
= 4,320
307 2Iz2t0| A 7,200 7,200 0
o=t 2,880
= 4,320
11 A EXAIEEX 7,200 7,200 0
OAHLINE - U2sIIIESXNNSEEH SAFA HS2M
Falsll 7,200,000& 7,200
& 2,880
= 4,320
ZE20F0HY XJAY 10,000 10,000 0
307 212t0| & 10,000 10,000 0
11 A EXAIEEX 10,000 10,000 0
OZE0F0AE 2lHAHE XA 5,000,000& 5,000
OZE0F0HA HelAEIN2SHSE XE
5,000,000& 5,000
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SA: FOX
dH: 23
¢l Oz 3

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M

2Hm
==
£l
Ol
0y

n

AEINNSHE BAS MHlA X& 20,000 20,000 0
10,000
10,000

EUNL

307 21201 & 20,000 20,000 0
10,000
10,000

UL

11T M SXAISE EX 20,000 20,000 0
Od=Itsag A48 MUIA 20,000,000& 20,000

10,000
10,000

s

Mo

SHAX A X & 55,018 53,520 1,498
27,509
27,509

EUNLY

307 21201 A 55,018 53,520 1,498

27,509
27,509

M

1A SEXAIE E = 55,018 53,520 1,498
OSBAXEA X& 55,018,000& 55,018

27,509
27,509

EUNL

o
Ho
L?j
N
M
I
\-_Qj
>
12

274,377 270,304 4,073
137,189
41,157
96,031

N

Mo

307 @12t & 274,377 270,304 4,073
137,189
41,157
96,031

S

M

11T M SXAEEX 274,377 270,304 4,073

OYEZXEZ AL XI& 122,752,000& 122,752
61,376
18,413
42,963
FAE K 30,070,000& 30,070
15,035
4,510
10,525

OABZEIAF X2 31,825,000 31,825
15,913
4,774
11,138
OSdHS X2 30,050,000 30,050
15,025
4,508
10,517
ooy X 34,680,000 34,680
J| 17,340

S

EURLY

J

ool

O
1]

o

0!

Mo e

S

UL




B4 FOX

|
A =23 M XA
Sl 2 JHE X CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
< 5,202
s 12,138
Ogt=0un=s 25,000,000& 25,000
J| 12,500
< 3,750
= 8,750
MEgelsE KA 41,900 46,600 A4,700
< 2,580
[ 39,320
MEelsZE X 5,000 5,000 0
307 glz2+0ol & 5,000 5,000 0
11 AISI S XA E X 5,000 5,000 0
Og== AgelsE ZatgYd  5,000,000& 5,000
MEd sZ F3x X& 12,900 16,400 A 3,500
< 2,580
[ia 10,320
301 LEAF 12,900 16,400 A 3,500
2,580
= 10,320
01 MEI2E X253 12,900 16,400 A 3,500
OZ=AH= Agelsz Zdd X
2,500,000& 2,500
< 500
s 2,000
OZ=AH= Agelsz &322 &
10,400, 000& 10,400
< 2,080
s 8,320
A=A AElstel MEotd X 24,000 25,200 A 1,200
301 LPEHF 24,000 25,200 A 1,200
01 AL EE E 2563 24,000 25,200 A 1,200
OYFZ ARSI MEBOHXH
24,000,000& 24,000
AI=EXNSH 393,972 412,470 A 18,498
< 10,000
i 383,972
==X 393,972 412,470 A 18,498
< 10,000
e 383,972
=0l 22X A3 A 20,000 20,000 0
< 10,000
e 10,000
307 glz2tol & 20,000 20,000 0
= 10,000
= 10,000
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AN FUAX B
g A=0=sRSsd
SRR E I CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
05 RIZHRI & 3 20,000 20,000 0
OL=3e22% us - 28 - Witgs N
20,000,000& 20,000
< 10,000
e 10,000
IR FR =& 6,172 8,960 A2,788
201 ¢er24| 2,000 3,000 A 1,000
01 At 22l 2,000 3,000 21,000
O R=Z A 52 L dbt+S
=l 2,000,000& 2,000
202 Odl 4,172 5,960 A1,788
01 = LH 4 Hi 4,172 5,960 A1,788
OA=QX& FR=A 04l
5,960,000& = 70% 4,172
AL 29 277,800 328,510 A 50,710
307 21201 A 277,800 322,800 A 45,000
05 RIZt2lEt = 277,800 322,800 A 45,000
OAIeRN2HH 2 277,800,000 277,800
/=00l K& A 85,000 45,000 40,000
301 LEHZ 30,000 28,980 1,020
12JEEd= 30,000 28,980 1,020
OA=0=0 S=20u=F 2A=H
30,000,000& 30,000
307 21201 A 55,000 5,000 50,000
05 BIZHRI & 3 10,000 5,000 5,000
OMARIS & &AL 10,000, 000& 10,000
11T MISXASEX 45,000 0 45,000
OLI=e=8 A&EX&AY 45,000,000& 45,000
Ct23st0l=eEZEHAHMEH =4 5,000 0 5,000
201 Let24d] 5,000 0 5,000
03 &AL Z I 5,000 0 5,000
OCU=230l=2 S AHEH JHa4 5,000,000 5,000
HH2F A 36,873 39,942 A 3,069
Jl=23HlI (= X&) 36,873 39,942 A 3,069
Jl=dl 36,873 39,942 A 3,069
201 Let24dH] 30,193 32,742 A2,549
01 At 22/l 28,189 29,880 A 1,691
O+t 7,965,000 7,965
o=t 9,220,000& 9,220
O=SAI Xtz 300,000& = 104 = 123 3,600
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AR = PRI
8l

X{ XH -
S =

#E2A L
Crel JI=FY(FLUNAD) (ol @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O&=J Xtz 50,000 = 104 ~ 12& 600
OH™EH AZ2E FH| 6,804
-ZdHEZey 3,960
EY
440,000 * 1CH * 48 * 23 * 90% 3,168
- Ed 440,000 = 1CH = 23] * 90% 792
- B 2l E 200,000& * 7CH = 23] * 90% 2,520
-FAX 120,000& = 1CH * 33 * 90% 324
02 352494l 2,004 2,862 858
Od#HAE&EH KX EE=H| 2,004
-CHI1 s ALRI1D]
1,300,000& = 3400 * 5% * 70% 1,547
-2l F 4,000,000 = 8CH * 2% * 70% 448
-FAX 600,000 * 1CH * 2% * 70% 9
202 4] 1,680 2,400 AT20
01 2LHOHI 1,680 2,400 NT20
OFoXY 2= bl
2,400,000& = 70% 1,680
203 &R =&H| 4,800 4,800 0
04 2SI L RF=AH| 4,800 4,800 0
ORANSHELERFAH| 400,000 = 12& 4,800
405 XtabF SHI 200 0 200
01 AL 2B F SHI 200 0 200
OMRE X 2L 200,000& = 1JH 200
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